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Accounts Related Knowledge

Balance of Personal Accounts will be
shown -

A. In Trading Account

B. In Profit and Loss Account

C. In Trading and Profit & Loss A/c
D

. In Balance Sheet

Joint Venture Account is a-
A. Personal Account

B. Real Account

C. Nominal Account

D

. None of the above

recorded in Cash Book:

Goods purchases through debit card i*

A. In cash column of paymen @
B. In bank column of p& ide

C. Inboth oftheside@l and
payment Q

D. None of thes

The Capital Accounts are closed in case
of firm’s dissolution.

A. By Realisation A/c

B. By Profit & Loss Alc

C. By General Reserve Alc
D. ByBank Alc

1.

2.

@t et A

TR WAl oh ST () T ool

SITIR Q1T |

AT-BTH @TaT &

STIR T AT @t §
Fergr (fRearfer forereomy &

.U.O.UJ?D%

T IYSHH AT 8-
A

B. “rdr

Q) D. mﬁw—s‘ﬁ

3.

Sfere 1S O AT o sha <t TfST Uohg ST |
forel STt =

A. VA U8 % Uhe &
B. YA &T o sieh Tqv
C. W Tof 37T &1 wadi #
D. T &% T

W o foreres T ST @ o forl ST €
A. TR @ |

B. WTV-8IH @Tar ¥

C. T €9 @rar &

D. s @@y
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3. Opening balance of cash book is shown S.

A. On the credit side of Receipts and
Payment Account

B. On the credit side of Income and
Expenditure Account

C. On the debit side of Receipts and
Payment Account

D. On the debit side of Income and
Expenditure Account

6. Which of the following errors / omission 6.

are not part of Bank reconciliation
process?

A. Wrong totalling of Bank column of
cash book

B. Wrong totalling of cash column of
cash book

C. Posting wrong amount in Bank
column of cash book

D. Omission to carry forward balance
in bank column of cash book

7. When bills receivable is discounted b 7.

co-venturer, cost of discount is de

O

A. Discount Account <

B. Bills Receivable A@\
C. Co- Venture@unt

D. Joint Venture Account

8.  Liabilities and Assets are T 25,000 and 8.

< 30,000 respectively. The difference
amount will represent -

A. Creditor
B. Capital
C. Profit
D. Debentures

X
O

Uehe STel ol TRIEY AN forar ST 2 -

A. S-S ST & SHTH q8T §

B. 3TU-o¥ W@ o HHThAT I&T |
C. SIH-YTA o o foreher ger |
D. 3I-=3F @@ & fasheld ueg |

Frefeiaa o & = € e / T e T
SfsRerT ot e e 22

A. T e o sk hicTH T Tard AT

B. T 3T ShICTH T ITAd ANT
Q@g SR SRIcTH H TTerd TiRT T

SFRT [ o Sieh R {eT H I TR T AT
SEEEECT

STeT HE- TS ST AT fora i a1gmeha
AT ST 7, e g ohl AT o ferehet
(&fere) FA

A. SIS

B. urH fous @rar

C. Hg-Hredl shi @rdl

D. €Y 9Ty @rdr

aTRIea T weafert shae: 25,000 TS

T 30,000 &1 37T TIRT =T GfATTeree St -
A. TR

B. st
C. @™
D. O
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9. Goods worth Rs. 36,000 were lost due
to fire. The goods were insured to the
extent of Rs. 20,000. Loss on account of
fire would be accounted as-

A

D.

Debit Trading A/c Rs. 36,000 and
Credit Profit and Loss A/c by
Rs. 16,000

Credit Trading A/c Rs. 36,000 and
debit Profit and Loss Alc

Rs. 16,000, Insurance Co. debit by
Rs. 20,000

Credit Profit and Loss A/c
Rs. 36,000 and Debit Trading A/c
by Rs. 16,000

Credit Trading A/c Rs. 36,000 and
debit Profit and Loss A/c Rs. 16,000

10.  Who are the real owners of a company?

A
B.
C.
D.

11. which of the following errors@
disclosed by the trial Bawn

A

B.
C.
D.

Government

Board of Directors
Equity Shareholders
Debenture holders

Compensating erro@\
Errors of Pnr&@
Errors of Or%&lon

All of these

12. Share Application Account is in the
nature of:

A
B. Personal Account
C.

D. None of the above

Real Account

Nominal Account

36,000 %. 3T AT 30 & STeTeht 81 g3l
T o1 20,000 &, 6T ST 81 A7 @ grfa iy
@ral 1 gfafd gt -

A

C.
D.

36,000 %. SUTIR GrdT H o 37T
AT-BTH @Td 7 16,000 &, GHTRAT

STIR GTdT 36,000 &, & HTRTT 3T
AT @TdT 16,000 %. ¥ fehferd war
ST RO 20,000 %, § forepfora

36,000 &, ¥ ATH-BT( W1 GHTehRicTd
3 16,000 %, SATIR GraT faehfctd

36,000.%. ¥ ITIR QAT GHTHIAd To
16&.\1@13@@@%

: @T%Wwﬁﬁéﬁ%‘?

B.

Q\o
cﬁo

ECH CR S
gHAT ST
ERULEESIE

T SIIfeaat | § i € SRIfes deTde gr
Sehe TET Bt 82

A
B.
C.
D.

affLer FRyfeaat
Qeaifoen sryfeaat
T gt sefeaat
I Wit

T TS WA il Tehf 7 2:

A
B.
C.
D.

CIEICCRCIn]
EIERICRCIGI
EIEEIERCIKI)

IR B W IS A
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13.

14.

15.

16.

Concept of consistency means:

A. All the firms in the same industry
should use identical accounting
principles and procedures

B. All principles and procedures of
accounting are utilised

C. Accounting principles and methods
should remain consistent from one
year to another

D. All of the above

Which of the following is not a revenue
receipts?

A. Donations for Tournament
B. Government Grants

C. Subscriptions

D. Entrance Fees

Opening balance of Debtors Rs. 14,828,
closing balance of Debtors Rs. 23,460,
Cash received from Debtors Rs. 86,530
Calculate sale -

A. Rs. 77,898 \06
B. Rs. 48242 N O

C. Rs. 95,162 @\

D. Rs. 1,24,818\Q

Which transactic’)&ﬁ ash Book will

not be necessarily posted in the ledger?

A. Withdrew money from bank for
personal use of owner

B. Withdrew money from bank for
official use

C. Payment to creditors through
cheques

D. Payment of outstanding salary
through cheques

TeHETAT shT ST kT 379 2
A. Torelt e st aft AT 5T T St
TraTeR faeaT-dt ud weafer i s ST

D. 3wk auft

freferRaa & & s o s urfy 7 22
A. T faeam
B.

<al

\\%ﬁnmwmﬁmﬁﬂalaﬁ&%ﬁﬁmT

AfaH T . 23,460, TR Y ITH T
%. 86,530, forsh <t T BT -

A. & 77,898

B. %.48,242

C. % 95,162

D. & 124,818

Uehe STET o fohel TR <hl W el |
AT 3TTava T Bnt

A. TTH! % safRTd 3w & e S 9
TS ohT SATEIOT

B. AT I o foTu soh & TRT a1
ST

C. MR i <o (YTaRT) FHT WA
D. ShTT oIt ST =Ieh (FTaRT) ST ST
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17.

18.

19.

20.

21.

To find out the opening and closing 17, yrifires we sifem OSft 91d & o fag

capital, statement of affairs are e e R S 2

prepared.

A. One B. Two A TE B. &

C. Three D. Four C. = D. =R

Single entry system of book keeping is 18.  qequTeT shi Tehel oIS STt & -

A. Simple A, 8T

B. Unauthorized by tax authorities B. aﬂ&ﬁwﬁﬁmmﬁ;ﬁ

C. Unscientific C. 3y

D. All of these D. 39 9t

Which of these is not a fundamental 19. 91 5 § -6 STURA @ish A=

accounting assumption? TE 87

A. Going concern A. @'ﬂ
B. Consistency ﬁw

C. Accrual O\G. TS

D. Materiality OQ D. @rar

Which of the following A/c would * 20. fymfefad # i a1 anr-E @ §

be transferred to Profit and Lgss AT T2 B2

A. Bad debts . A. 3T 0T (ST 0

B. Discount allowed \ B. Ted (A1) =R

C. Accumulated%@‘io Alc C. E%HWW(WW)

D. Al of the thig ) D. Tt

From which account, expenses on issue 21, 3ivTi o i W o weyem e @rd o

of shares will be written off first? {ufARad grm?

A. Statement of Profit and Loss P g a——

B. Miscellaneous Expenditure Account

C. Share Issue Expenses Account B. o

D. Securities Premium Reserve C. siwr e =z e
Account D. wfdufa yeafsr d=re @ren

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e
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22.

23.

24.

25.

Final Accounts are prepared:
A. At the end of Calendar year
B. At the end of Assessment year
C. Atthe end of Accounting year
D. All the above

The statement containing various ledger
balances on a particular date is called as

A. Trial balance
B. Ledger

C. Final Accounts
D. Balance Sheet

According to the cost concept the assets
are always valued at:

A. Market Price
. Purchase Price

B
C. Current Price
D

. Market Price or Purchase

O
Providing depreciation@id asset is
in accordance wi f the
following conce& neepts?

(i) Going concern;

(if) Matching concept;
(iii) Materiality

A. (i) & (ii)

B. (ii) & (iii)

C. (i) & (iii)

D. All the three

22.

23.

3w @ AR o ST &:
A. Fietad  Ha §

B. faftwrad & ofa &
C. Sraied v o 3fa #
D. IwIw® &t

foreft forarer fafer sht fafsr= wemme o @mar sy
! GitAfeTd i ITet foreor o0t shed @ -

A. do9e
B. @rdragr

Dﬁég@g

‘%ugéjwmwm%agmam%ﬁémT

25.

TSI S

O@Wﬁmaﬁw%

S

A

B. I W

C. IHM Ied W

D. SR 7 37T 563 7l T

TSPt o <gTe e feTRad H  fore
AR / STLTOMAT % STTER AT
ST 87

DEISEELT

(ii) TreT T sraremon

(iii) ERaT

A. () T (i)

B. (ii) W (iii)

C. (i) (iii)

D. @t it
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26.  The working area of Joint Venture is: 26. T TTEH T H-& B 8-

A. Wide A. foeqa
B. Limited B. Hifaa
C. Determined by purpose C. Iy gn faeifa
D. None of these D. H 9IS Il
27.  Calculate the net profit of firm ‘X’ Ltd. 27, feffad foremor & <X Ltd % 37e2 & i

using following details : TUAT &L —
Opening Stock Rs. 1,50,000 TR TheT - 7. 1,50,000
Manufacturing expenses Rs. 30,000 fomioft == - %. 30,000
Selling & distribution exp. Rs. 20,000 EEDRC] T -F.20.000
Administration expenses Rs. 10,000 ’ % 10.000
Financial expenses Rs. 5,000 N

“ AN -%. 5,000
Depreciation on office building S — % 6.000
Rs. 6,000 * R

$reiver BT ¥ TTEHH - %, 4,000
farshar - %. 2,80,000

Provision for bad debts Rs. 4,000
Sales Rs. 2,80,000

Gross Profit on sales 25% * : Torshal o Tkt SATH 25%
A. Rs. 25,000 Q% . Rs. 25,000

Rs. 35,000

w

Rs. 35,000

Rs. 20,000 é\o

o0 ® »

C. Rs. 20,000
D. Rs. 15,000 \Q Rs. 15,000
28.  The posting of discount recorded in 28. i warfiT Tehe STET o WY TeT | o1gT Ty
receipts side of Cash-Book FI @ Bt 2-
A. Debit side of Discount Account A, FErEm ¥ e (e v i
B. Credit side of Discount Account s 5
C. Credit side of Discount received B. &t i )T
Account C. JTH ST Tl o shie (THTERS) 9eT |
D. Both the side of discount account D. Sg1@rdl % aH1 gefi 8§

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e
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29.  Profit or Loss on revaluation is 29.  qHcATeR X T AT TS BT hl ST

transferred to: fopam STTaT 8-

A. Incoming Partner’s Capital Account A, T EREEEF IS @ d
B. Outgoing Partner’s Capital Account B. g ager s usiaad
C. Old Partner’s Capital Accounts C. grﬁg@arﬁ%ﬁﬁr@ﬁﬁ
D. Profit & Loss Account D. 98T @rar &

30. The order of payment of the amount 30.  &H o THTIA W TrafEt o fashe & arw afsn
received from the sale of assets on the £ g?ﬁﬂav‘rao‘ﬂr% -
dissolution of the firm is- 1. e &l aE
1. Payment to creditors 2. HTEeR 1 Isf 7 ST
2. Payment to Partner’s capital 3 3|;UﬁEBT ;;W
3. Payment of Partner’s loan - ﬂTra%r
4. Payment of Dissolution expenses. >
Code : ()‘

A. 1,2,3and4 B. 4,1,3and2 2,3%4  B. 41,332
C. 2,1,3and4 D. 4,3,1and?2 %C 2,1,33M4  D. 43,132
31 Persons carrying on Joint Venture T IUSHH SATE | HeTH fth Foald o-

business are called: * A
A. Partners T
B. Shareholders B.

C. Co-Venturers C. we-wmeH!
D. Co-Owners @\ D. Hg-&mHt

32. Goodwill of a ﬁ&o@( and Y” is 32. X 3R Y’ o HH s T Hl T &.
valued at Rs. 30,000. It is appearing in 30,000 21 I SR 7 %, 12,000 fore 8
the books at Rs. 12,000. ‘Z’ in admitted 2l 2’ i v, feed & foru yawr fear mar )
for %4 share. What amount he is T ST % 7w Rt ST @
supposed to bring for goodwill?

A. %.3,000
A. Rs. 3,000

B. % 4,500
B. Rs. 4,500
C. Rs.7.500 C. %7500
D. Rs. 10,500 D. ®.10,500

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e
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33.

34.

35.

36.

Which of the following error will not
affect the Trial Balance?

A. Wrong balancing of account

B. Writing an account in the wrong
account but on the correct side

C. Wrong totalling of an account

D. None of the above

In which sections of the Indian
Partnership Act, 1932, various methods
of dissolution of a firm are mentioned?

A. Section 39 to 43
B. Section 40 to 45
C. Section 41 to 46
D. Section 40 to 44

Which of the following statement is
more true in reference to triple columns
Cash Book?

A. Trade discount is recorded on l%
receipts side of Cash Boo

B. Trade discount is reco ;he
payments side of C :
0

C. Trade discou iS not

recorded in

D. Cash discount received is recorded
on the receipts side of Cash Book.

A decreases in the provision for
doubtful debts would result in:

A. An increase in net profit
B. Anincrease in liabilities
C. A decrease in working capital
D. A decrease in net profit

33.

34.

7T o | =l T ST RE qetde o ST T
SAUiV

A. @Tdi 1 Tad 99

B. Toid @Td | U3 bl el Tl 9e7 §
o

C. @i ol TAd I
D. 39 H § IS A&l
TR Egiert rfafem, 1932 &t fore

RIS} o 7eg B o forere R fafire Gfcart
T S ToRaT T 27

A. 91T 3938 43
B. A 45

@41@(46
. bam4o@44

)

36.

2
& Tnfia Ushg-aet & fore e o & -
YU IATIH G 87

A. JTH SATITE FT Uhg-STal o ITH 98T §
forar ST 2

B. STH SATATRE TET UhS el o ST T&l
T o St 21

C. YTH SATTIeh SIgT Ushg-sTal | &1 forar
ST 2

D. 916 Uehg g1 Ushg-aIel o TIfH ver &
fore star 21

wferer 0Tt o foTT Srare o st o giorm:

e I H gfea

. ST | gftg

. e it o e

R[ea AT H HHT

o0 w >
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37. Receipts and Payments Account is a

37, STTH-SJT R AR & -

summary of : A ST ST
A. Income and Expenditure Account o
B. Bank Account B. &% it #1
C. Cash Book C. Uhg Il
D. Balance Sheet D. faz =
38.  The capital at the beginning of the year 38. o o g H ST . 80,000 81 A9
is Rs. 80,000. The assets are increased FEgfEt 1 %, 40,000 s 9fee €8 T Srlea
by Rs. 40,000 and liabilities are reduced ‘ s
by Rs. 5,000 in the current year. 55,000 ?ﬁ?m"ﬁ@é%l S T
Calculate Profit or Loss. TTOTT 36 -
A. Profit Rs. 1,15,000 A. @R 1,15,000
B. Profit Rs. 45,000
C. Profit Rs. 35,000
D. Loss Rs. 35,000 : :
39. If Bad debts are written in adjustment, it §\ STYTC K0T, GHTASH § 2T T & ar
will be shown in :- Q 39 ferar s -
A. Trading Account A ST @ i
B. Profitand Loss A t .
: F)roflt and I_oss Account é B amEfER
. Profit and Loss Accoun .
Balance Sheet % C. W—%ﬁ@ﬁﬁ&%%@ﬁ
D. Balance Sheet D. s g
40. The entry of goods di s@\as free 40. 3 Gt it FHRTesh T o & | forafea st
samples would \é STt & IR @Ta | afafy gt -
A. Credited to T ng A/c and Debit A. TR GTdT GHThR Td AT-8TH @
to Profit and Loss A/c T foee T
B. Debited to Trading A/c and Credited B. SATYR QAT fIehaid T ATH-gT1 TTaT §
to Profit and Loss A/c TR
C. Credited to sales A/c and Debit to C. forsra @rar gHTRed TS ST @rdr
purchase Alc EETSC]
D. Credited to Trading A/c and Debit D. SR GTaT GHEE Ua STTET @raT

to Drawing Alc

IEETSE]
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41.

42.

43.

44,

Equity shares cannot be issued for the 41.

purpose of:

A. Cash receipts

B. Purchase of assets

C. Redemption of debentures
D. Distribution of dividend

Due to which concept qualitative 42.

transactions are not recorded in the
books?

A. Business Entity Concept

B. Money Measurement Concept
C. Historical Cost Concept

D. Dual Aspect Concept

From the following details calculate net 3.

sales to be shown in Trading and Profit
and Loss A/c —

Total sales of Rs. 2,10,000 includes the O
following — *

(i) Credit sales of Rs. 65,000
(i) Goods send to consignee
Rs. 25,000

(iii) Sales of old office equi t
Rs. 5,000
(iv) Goods send etlirn

basis — Rs. $0,000
A. Rs.1,70,000 B’ Rs. 1,85,000
C. Rs.1,65000 D. Rs.1,45,000

Interest on capital is - 44,

A. Gains for the business

B. Loss for the business

C. Expenses for the business
D. All of these

TaT ST 1 et e Sewa & fore =
foparm T weha:

A. g ITTH o fote

B. @il s & feg

C. HUTTHT o e o fog

D. emisT forawor & forg

C. EARGER I
ST

N

D.
gﬁ%ﬁ@?«%awﬁwaﬁtw-mﬁ

i i Fom ST Ay 7 e o
e
et forshar . 2,10,000 ¥ Tftwfera & —
(i) SUR fashT ®. 65,000
(i) et =t HTeT U %, 25,000
(iti) T I YT AT T3 . 5,000
(iv) TTeT forshl am ot SATem wX At
%. 10,000

A. % 1,70,000
C. & 1,65,000

B. %. 1,85,000
D. % 1,45,000

it R ST BT 2 -
A. I H T
aE T T
TS o

SEIGRC )

O 0O W
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43. “Net Sales” includes - 45.
A. Cash Sales
B. Credit Sales
C. Cash and Credit Sales
D

. Cash and Credit Sales (-) sales
returns

46. Income and Expenditure Account 46.
records transactions of :

A. Revenue Nature only

B. Capital Nature only

C. Both Capital and Revenue Nature
D. None of the above

47. From the following details, how much \
should be charged to Profit and Loss A/c O%
as bad debts during the current year? *
Provisions for bad debts A/c as o 6
1/1/2021 - Rs. 24,000. %

Actual bad debts during 2 . 20,000

Debtor’s balance as @2 021

Rs. 80,000 \6

Provisions for b:h%bts to be made @
5% of total debtors.

A. NIL

B. Rs. 4,250

C. Rs. 2,690
D. Rs. 3,200

“37eg forshar © wfFAferd & -

Tehg forshar

YR fasha

Thg ST I forsha

TR ST I forsha (-) fershar amareft

o o w >

T Ud 2 o H o ST @
A. I ATTH T % FTER
B. hael YSit Fehfcl & AR
C
D

FrfetRaa feremor & =] o o SR ATv-
B @1 & 37Mrer =0T fShear g fopam
Sl

1/1/2021 T 37T 307 & TE€ fofat -
%. 24,000

2021 3T AREAIH STINET KT E. 20,000
31/12/2021 =1 ISR st IS THRTE. 80,000
RN 0 B TAEH FieA TGN 6 5%
ERER

NIL

%. 4,250

%. 2,690

o o w >

%. 3,200
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48.  According to the conservatism concept, 48.  fcaTet ST & TR T Gish §
in accounting: A gl st e o e e afah
A. All future profit and losses will be e
included ‘
B. @it wrdt @y wftaferd gt formg areft
B. All future gains will be included but =1 78
future losses will not
C. aoft ureft oy wftafora =2t & fobeq
C. All future losses will be included A S SN w3
but future gains will not
. . D. it wrelt @y e Wil et wftafera
D. All future gains and losses will not e
. T BRT
be included
49.  The business owner has taken goods for 49. SR § Fsft SuamT &q 7rer
his own use then it is shown in account . %ﬂﬁ%?ﬁsﬁuﬁ@?ﬂ%%—
* .
A. Deducted from purchases Q\ ERR R CIC
B. Deducted from sales @ B CERE R CTAE 8
C. Deducted from profit cE) . T H  ETeR
D. Debit side of Tradlngxo D. AT QT o A 9T §
50. A prepayment @ce premium 50. st Sfifirer o1 Ue & A forg | qe
will appear in the nce Sheet and in s Sifteg @rar & swaeT: e w9 & fewmn
the Insurance Premium Account S
respectively as: ’
A. A liability and a debit balance A. T R o U Sfere (foeper) a1
B. An asset and a debit balance B. T wre qe Sfere (ferehet) 31w
C. Anasset and a credit balance C. U THT 9T shie< (THTeRe) IS
D. None of the above D. m@ﬁﬁaaﬁﬁqﬁ
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S1. Calculate, Sales from the following

details -

Opening stock - Rs. 4,000

Cost of Goods sold - Rs. 30,000
Closing stock - Rs. 2,000

Direct expenses - Rs. 5,000

Gross Profit - Rs. 1,500

A. Rs. 28,000

B. Rs. 31,500

C. Rs. 32,000

D. Rs. 33,500

52. Which sequence of amount columns of

triple columns of Cash Book is more
appropriate?

A

53. ‘x’ and ‘y’ are partners in a firm shari
profit in the ratio of 2:1, ‘2’ 1 i

with a 1/3™ profit sharing.
the new profit sharing rafi Ly

Discount, Cash and Bank columns

B. Cash, Bank and Discount columns
C.
D. Cash, Discount and Bank columns

Bank, Cash and Discount columns

and ‘z’?

A
C.

54.  Which of these is not a feature of a Joint

4:2:3

Venture?

A
B.
C.
D.

Continuing business
No firm name
Joint Risk

Partnership for limited purpose

be

51. f=fefaa faemor @ fosma <t romr SRt —

TR Ther - % 4,000
farshar 9 | St ATE - % 30,000
3ife The - % 2,000
ToaE I - % 5,000
HeheT AT - % 1,500
A. %.28,000
B. % 31,500
C. % 32,000
D. ¥ 33,500

52. fr-wanfi Yeve sTEt | URT TarT 1 6 |

B ¥k BT
A.@ s U Sk TP

53. xRy U H W @RER & 3 2:1F
ST | AT Sled 8 2 Rl 1/3 W

T o BT AT fT ST 81 31 X,
‘y? HIT ‘2’ T T4 AT forvTsi SIgard

g
A. 3:3:3 B. 2:4:3
C. 4:2:3 D. 2:34
54. ST W S AT U I WIeH hl fovar et
37
A. G AR
B. IS %H T A0 T
C. €I Siam
D. i sewa o fore wmerer
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55.  Which one of this is true about a bank
reconciliation statement?

A. Itis a part of memorandum
statement

B. lItisa part of cash book
C. Itisa part of ledger
D. Itisa part of bank document

56.  The reason for appearance of less
balance in bank passbook than cash
book

A. Cheque issued but not paid

B. Payment directly received by the
bank

C. Direct payment by bank or interest
charged

D. Interest allowed by bank

S7. Income and Expenditure Account s

A. Surplus or Deficiency Q
B. Cash and Bank Balaf eo

C. Assets and Liabj l@\

D. Capital Fun@&

58.  Joint venture business is governed by:
A. Indian Contract Act
B. Indian Partnership Act
C. Sale of goods Act
D

. All the above

T8 U I | Ueh Soh GHTET foaior & TR
¥ T 87

A. IE GHTYT foeroT o1 U e 2|

B. IT Uehe LT o1 T (e 2

C. I @Tal el I T e 2

D. ¥ S gEdTast o1 Uk e 2]

Sfeh UTE o | %1 e W W seid fee
O -

A. = SR forar T QifeR s T

B. ey sk gry e feram

QI A& AT AT SIS AT 73T

OQ\S. e T el ST

57. 3Y-s99 @I TR -

A. 3faes ar Ear

B. U U o H W
C. gwufr ud e
D. Ysft ey

58. I HTEH SGHT HATITd Il &-
A, WTRAT 3T AT % SR

B. VR HIgEN AR 3 STTER
C. =] forsra sfrfaam & s1gEn
D. IWIth @t o AR
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59.

60.

61.

62.

Balance sheet shows:
A. Profit of financial period

B. Financial position of the financial
period

C. Financial position on a particular
date

D. All balances in the ledger

Subscription received during the year is
Rs. 50,000, subscriptions outstanding at
the end of the year is Rs. 8,000,
subscription outstanding at the
beginning of the year was Rs. 6,000. Net
Income from ‘subscription will be’.

A. Rs. 48,000
B. Rs. 64,000
C. Rs. 52,000
D. Rs. 36,000

system -

A. Nominal and Real Accou@

B. Cash Book and Persﬁx ounts
C. Nominal and ounts

Pe
D. All Accounﬁ&

Surrender value of Joint Life Insurance
Policy are shown in:

A. Profit & Loss A/c

B. Profit & Loss Appropriation A/c
C. Asset side of Balance Sheet
D

. Liabilities side of Balance Sheet

59.

60.

feerfa-feraor (forgn) awifar &:

A. 3T srafer ey

B. e srafer i amfdfen fafa
C. oty forfdr ux smfelen feerfar
D. ©TaT & o &+ I

Y o S ST HERIdT [ &. 50,000, 9
o 3T 7 THTAT HSEAAT [ &. 8,000, T
TR T ST HeEdT J[E &. 6,000
TEEIAT § Y[R AT B -

AV 0

B. 00
. #752,000
L 4

:\D. 7. 36,000
Accounts are maintained in single entﬁO 61.

Tehe TS JoTe! o ST @Td W@ S &-

B. Uehe TEdeh U FfehiTd @
C. THH U SFThTd ETd
D. &+t YR & @Td

HRIh Sfar ST diferet T qwd qea
GIITT ST 2-

A. AT @rar g

B. m-gIH e @rar &

C. foz s umfauad

D. g F e uad
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63. If a Trial Balance does not tally, then 63.
accountant creates-

A. Drawings Account
B. Suspense Account
C. Capital Account

D. Nominal Account

64.  The entry of dishonour of endorsed 64.
cheque is made in:

A. Cash column of Cash-Book
B. Bank column of Cash-Book

C. Cash and bank both columns of
Cash Book

Ife qeTue o1 feT el BT 8, a9 aiemdTe
fafifa srear 8-

ST Gt
H <feh Widl
N (=N

O 0w »

AHHT G1dT

qgifohd EFTNT (SIh) o TR 3t Tl
gt &:

A. UFHe T & Uohg T H

B. Ug il o o Taryy

C. Uehg U S ST TPl

D. None of these b Y s T8l

L 4

65.  From the following details calculate %\
direct expenses of X Institution O
Opening Stock - Rs. 30,000
Purchases - Rs. 90,000

Closing Stock - Rs. 25,000 Q

Manufacturing expenses - ,000
Selling and distributio . Rs. 20,000

Administrative @ - Rs. 10,000
Financial expense s. 5,000

Sales Rs. 2,40,000

Gross Profit on sales 25%

A. Rs. 25,000

B. Rs. 55,000

C. Rs. 45,000

D. Rs. 35,000

élm%ﬁa?r%awﬁx TEAT o Y&
Y TTOMT T —

IR TheT - %. 30,000

% - %. 90,000

e Ther - %. 25,000
fomioft == - %, 30,000
fersrar v farawor =29 - €. 20,000
IR S99 - %, 10,000
forfia =39 - %. 5,000

farsmar — % 2,40,000

forsrar W TRt A9 25%

%. 25,000
%. 55,000
%. 45,000

o o w >

%. 35,000
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66.

67.

68.

69.

70.

Closing entries are those which are 66. o wfafsart o & S arfed 21 St @ --—--
Zasszd e A e ¥ s it

. At the end of the year .
B. At the beginning of the year B. aﬁaﬁ{’mmﬁ
C. For rectification of errors C. Ffeat = gaw ferg
D. For suppressing profit D. AT %I &M & fag
Reserve capital is a part of : 67. aﬁﬁﬁﬁraﬂ@ G
A. Paid-up capital A, =ohdT dsit
2. Zorfelted share capital B. wsd (00T i mﬁgﬁ

. Assets .
D. Capital to be called up only on C . .

liquidation of company D. ad o GETOA W A R gt
A Bank reconciliation is prepared by 68. I qI TR ST @ -
the -
A. Bank . '
B. Creditor’s \B'
C. Business / enterprise O C. MR/ 3TH
D. Supplier * D. foaws
Credit balance in bank passbo@- 69.  Siep TS H STHT I T 379 2 -
A. Bank overdraft O A. S AeRge
Bank Balance @\ B. & sig

B.
C. Balance as @book
D. Total of bank

Which of the following would not be 70.

included in current assets?

A. 60 days Bills Receivable

B. Short term deposit with bank
C. Interest of Rs. 500 with cashier
D

. Preliminary expenses

C. 19 % AT Y
D. s Th13-< sht et TR

frfafad o & =9 ar seemt o aftafaa
T 82

A. 60 fead g faos

B. &% T STeUshlcii ST

C. IR T T 500 FHT SIS

D. iy =
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/1. The capital of a sole trader would 71, U U AT 3 St e aiom e
change as a result of: afafda arf:
A. Wages being paid in cash A Wﬁwmﬁw
B. Raw materials being purchased on N
credit B. < Tl ol ST
C. A creditors being paid his account C. U FGR I < T 3Uh WTd T
by cheque NArIC]
D. Fixed assets being purchased on D. Tt G T SH
credit '
72.  According to the realisation concept, 72. g YR % STER AW THA S, el
accounting will be d.one W.hen: A WIS ARTIEE
A. Order of goods is received %\T
B. Goods are produced B. T
C. Goods are delivered
D. Value of goods is received j T &l
73.  The assets of a company from 73 %ﬁ!ﬂ%@aﬁmﬁwmsﬁmﬁ@r
accounting point of view may be \ﬁm%mmwg
classified as: Q At - P
A. Private and Public assets O A o A .
B. Depreciable and Durable assets * B. =g a1 U feehrs; weafxy o w0 H
C. Current and Non-current asset% C. 7ol U T =Te] &t o &9 H
D. Tangible and Intangible as D. T Ud 37d gy & &9 &
*
[ S — is known as fa \Qouble 74.  fgufats gomeft & STweTdr o -----
Entry System. A Ayt B :
A. Lucas Pacio@arshall - S 5
C. Pikles ¥ Batliboi C. T D. wrecisia
75. A manager gets 5% commission on net 75. e ISR 1 FHHIIH TR o T4 & J[e3
profit after charging such commission. ST 9T 5% HHII U9 BT 21 Ife gahet
If gross profit is Rs. 48,000 and ot 3 e
expenses of indirect nature other than < 48,000 2. q¥0 ¥ F
manager’s commission are Rs. 6,000. AR STITE 7 6,000 . B 1 FHHTH
Commission amount will be ----------- : CRY I ] p—
A. Rs. 2,000 B. Rs. 2,100 A. T 2,000 B. & 2,100
C. Rs. 2,200 D. Rs. 2,400 C. %2200 D. % 2.400
SPACE FOR ROUGH WORK / T & & forr st
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76.

77.

78.

79.

80.

81.

Computer Related Knowledge HI Haielt T

How is the address of website given on 76.  getae w forelt oft Jerdge ot var fohaeh

the internet? ST fore ST 292

A. E-mail Address B. HTTP A F_T@uar B, . A A @

C. Protocol D. URL C. T D. I, TR, T

Which of the following is not an 77. 79 @ o ek ST forem 7 22
i 2

operatl_ng system | A fr B £

A. Windows B. Linux .

C. Google D. DOS C. T D. =/

BIOS is used by? 78. BIOS @l IEZIEIGIEY

A. By operating system A. ey & =

B. By compiler % QAT
C. By interpreter ’\;. ’S’EI@IZI%?EW
D. By application software D. UHloha HiTae % R

The most commonly known compute O 79. @ AR O A 3L FeaTE © e
input devices are the ------- and theq: --- --

A. Microphone, Printer Q A T et

B. Scanner, Monitor * O B. ¥, W

C. Digital camera, S @ C. fefSrea Fmu, v

D. Keyboard,!@ D. f& a1, disa

In any computer system which is the 80. ot +ft sFrepe foree & wed BT I 2 -
smallt?st unit - A fe B. WSz

A. Bit B. Byte

C. Binary D. Mega Byte C. amrt D. A&
Provides hard copy from computer. 81l. FFI Y TTSHIUT TS AT 2 -
A. E - mail B. FAX A. $-Ta B. %ad

C. Software D. Printer C. 9T D. fiiex
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82.  Which enables us to send the same letter 82. I EH Uk & U hl AT ITAT Hfeh ahl

to different persons? Ao N L ST 82
A. Add recipient A. YTHSHdT Sl SIS
B. Macros B. ¥
C. Mail merge C. Uaus
D. Multi mail D. "l v
83. A program that is used to view website 83. Uk T ST JSETEE @ ok foTd T feram
is called a - STTAT ©, 3§ el ST e -
A. Browser A. SIS
B. Web viewer B. 399X
C. Spreadsheet C. ’
D. Word processor D éﬁ@
84.  Type of printer in which characters or 84. %Wagwﬁﬂﬁﬁm%ﬁaﬁ%
Letters are formed without the use of \W% & T 9158 I &, el &
any mechanical impact is termed as

A. Page Printers A T i

B. Line Printers O B. @ fliex
C. Impact Printers 6 C. e fiix
D. \Q

Non impact Printers D. 7 Triae et
85. The First Network was 0@ ------- : 85.  ggAT A T T ST U1?
A. CNNET é A HTETEH
B. NSFNET ® B. (HUHTH TSI
C. ASAPNET C. TwUhwiA
D. ARPANET

D. TIRA TS
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Hindi Language et s

86. et o ¥ffa diet-cArshifh ot 37 2- 91. qfesi ufted &1 e fereheq grm-
A. Fad el faamar A TH-TS
B. TS @Il B. FaReET — at
C. drdfash faw@man C. 3IHU - 3T
D. SfcisT e D. |HE - wHE
87. =g +ft B2 forerd forvrer Taam 22 92. =i w1 oot gef=r 22
A, TN H B. afd# A g B. &
C. A& D. 19 ¥ %13 & C. g D. %
88. forfifiaa e ¥ T e wreg 1 T 93. m@@:ﬁ
ﬁg@qﬁtw%aﬁaaﬁrﬁw . B.

At o b Q)\é. s D

C. sftad D. ¥
89.  rfcioh & & § fohd TR 1 Bl e 94.  frferfiad & & weT 31e8 Br-

A. 9= B. @rd Q: A. TSRS B. semT

C. gaelm D. 3=+
90. Wﬁmaﬂmgaﬂ'% T T ¥1e3 & 95. FfaRaa veal § & Faeel fore ot i

& 37e% 2-
A. AN
A. TeEq
B. o B. foesft
C. YT C. I
D. YT D. dgvd
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English Language

96. Choose the correct preposition:

I am worried ------- the exam.

A.

97. Choose the correct indirect form of the

B
C.
D

In

. On

about

. of

following:

Ramesh asked me “Did you see the
hockey match on television last night?”

Ramesh asked me whether | saw the
hockey match on the television the

A

earlier night.

Ramesh asked whether | had seen
the hockey match on television t

earlier night.

Ramesh asked me did | see he

match on television the Ia

night.

98. Choose the Correct optlon ,

There is ---------- cat in --------- garden
A.
B.
C.
D.

a, the
an, the
the, a

the, an

SIS AT

99.  Choose the right option:

You won’t pass the test

study.

A.
B. whenever
C.

D. if

unless

when

100. Choose the correct passive form from

the fo@
“I @1
. G

OQ)\E;.

Ramesh asked whet
hockey match on t n the last

leaving the house”.

e had been seen leaving the house.

He was seen to be leaving the

house.

Leaving the house he was seen by

me.

He was seen leaving the house by

me.

101. Choose the correct adverb:
Seema -------- sleeps in the afternoon,

She considers it a waste of time.
A
B.
C.
D.

usually
often
sometimes
never
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102. Choose the correct option of the 104. Give one word substitution of “Person

following phrase: who does not believe in the existence of

“To Keep one’s temper” God™:

A. To become angry A. theist

B. To preserve one’s energy B. atheist

C. To be in good mood C. heretic

D. To become hungry D. fanatic

103. Choose the Correct spelling: 105. Choose the correct antonym of the word

‘terrible’:

A. Amatuer B. Ameteur ] ) ]
A. frightening  B. horrible

C. Amateur D. Amature C. scaring D. soothing

| cP@
Q\o
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106.

107.

108.

109.

Mathematics

The Angles of a Triangle are in the ratio
of 5:3:7. The Triangle is -------

A. ARight Angled Triangle

B. An Acute-Angled Triangle
C. An obtuse-Angled Triangle
D

. An Isosceles Triangle

The cost price of 6 tables is equal to
selling price of 4 tables. Find the profit
percentage.

A. 25%
B. 60%
C. 50%
D. 80%

product is 35 then the sum of the

reciprocals of these numbers wil
A 12

35
C. 35 @
8

Ram paid Rs. 9, 600 as interest on a loan
he took 5 years ago at 16% rate of
simple interest. What was the amount he
took as loan?

A. Rs. 12,000
B. Rs. 16,400
C. Rs. 18,000
D. Rs. 12,500

The sum of two numbers is 12 and thtgo

106.

107.

>

109.

fuTa

T TSt o I0T 5:3:7 o STATG H & el

E
I

. Gmfgang Frgst

6 o T 563 T 4 oI o [oIshel q&d o
SIS 31 AT Tfawrd Jra hifeg)

: 0
0%
D. 80%

a1 STl T AN 12 TS UM 35 21 e

ST ST o SHH T AT BT -
A 12 5 L

35 35
cm o 57

8 32

TH = TTUROT TS 3R S 99 G4 16% ol &
T K07 fora o fSterenT =TT & 9600 72T
foarm | T 3 Terae &, ot =T foram e

. 12,000
. 16,400
%. 18,000
. 12,500

o w >
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110. Two Cars A and B start from City C to 110. SR A Td B I C ¥ D T STl & SHT

D. If the distance between two City is e 3 s o e 540 et &) o) =
540 km and the slower car travelling at mﬁwaﬁsﬁ;ﬁw%%ﬁuﬁa’%%
an average speed of 90 km/hr takes an ’
hour more than the faster car then the S fererffi g 1 o i & =rer At HR
speed (in km/hr) of faster car is: o GHT § T B¢ SATRT H G Ll 21 st et
A. 117 km/hr T ST e S

A. 117 feret / wfereier
B. 126 km/hr '

B. 126 foret/ wfrefer
C. 108 km/hr C. 108 fedft / gf
D. 99 km/hr D. 99 feret / fereier

111. The tangents are drawn from the point 111. Y2 —Ax—2y—11=0 W fiig
(4, 5) to the circle N ¥
2.2 B N ﬁ))ﬁmﬁ%@ﬁ@a?ﬂé%l T Tt

X“+y“—4x—-2y—-11=0. The Area of \"
the quadrilateral formed by these TS Fom o ofter s =St < e & -
tangents and radii is A I5TtsEE B, 75 T

A. 15sq.units  B. 75 sq.units
C. 8sg.units D. 4 sq.units 6 C. sagg D. 4t 5hrs
112. A book was sold for Rs. 27. | 112. ueh q&deh 1 & 27.50 H sie T 10%

profit of 10%. If it was AT I 21 Afe Tk bl & 25.75 H sk
Rs. 25.75, then w, _ have been o

the percentage

A. 4% Profit . 5% Profit A. 4% B. 5%
C. 3% Profit D. None C. 3% D. &S T
113. Half of one number is equal to 0.07 of 113 ueh e it AT gh {1 6 0.07
another. The ratio of the number is : ST 2| G 7 I & -
A 507 B. 57 A. 50:7 B. 5.7
LT D. 1:14
¢ 50 C. 7:50 D. 1:14
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114. A 4 digit number divisible by 7 becomes 114. ush 9 3kl 1 GEAT St 7 @ fonmfsra @ afg

divisible by 3 when 10 is added to it. 3G 10 S fear strar g a1 918 3 9 fownfsa
The largest such number is : 21 ST ) Teft e WS w2
A. 9999 B. 9996 A 9999 B. 9996
C. 9998 D. 9989 C. 9998 D. 9989
115. One quarter of one seventh of a land is 115. ush Sl o WTad el o1 Uk =T e
sold for Rs. 30,000. What is the value of 30,000 9 H S=IT ST 2 39 SHIH o 8/35
8/35" of the land? 3 e a1 e P 22
A. Rs. 1,92,000 A. %.1,92,000
B. Rs. 2,12,000 B. % 2,12,000
C. Rs. 27,428 C. &2
D. Rs. 36,540 D. 0

116. 1f 90% of A = 30% of B and B = x % of 116. g)&awr%%amrrmaésm%éaw%

A then the value of ‘X" is : Q\@TBWWAEF[X%%({T'X'EF[W%|

A. 600 B. 800 A. 600 B. 800
C. 900 D. 300 C. 900 D. 300

117. Each side of a rhombus is 26 @ 117. ook wrarqy 1 Tele 91 26 9.1 8 3R
one of its diagonal is 48 ém{lofig.The THeT U forehof 48 WAl a1 @ | wrergst
area of the rhombus is ; FT STHA 8
A 240em? -\g00cm A a0’ g, 3008
C. 360cm? ’\5 480cm? C.3g0@” D, 4g0@i”

118. A and B together completes a piece of 118. A wd B Hetert Ush 1 i 4 T # qof &
work in 4 days. A Alone can complete 2 A 373l IH HTT FT 12 R F o et
the same work in 12 days. In how many R
days B alone will complete the same 2l B 361 s =l fopa ot o quf s
work? . .
A. 6 days B. 8 days A 6T B. §feT
C. 10days D. 12 days C. 10f@# D. 12f=d

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e

202032-RV-QRV 29 Set-A



119. What is the smallest number by which 119. g% 31 A BT T 1 ® FSrEd 5600 v

5600 must be divided to make it a AT 3 YL I YUT 5 & S1T?
perfect cube? B

A 7 AT

B. 70 B. 70

C. 14 C. 14

D. 700 D. 700

120. The cost of a Car is Rs. 3,00,000 and the 120. ueh &R T HHd & 3,00,000 TS TS hl

cost of a bike is Rs. 50,000. The ratio of FHT & 50,000 Bl TS hl hiFd T HI hT
the cost of bike to the cost of Car is ----- FHad aaqmg‘m[
A. 16 A. 16

B. 1.5 B. 1:5

C. 14 C. 3@

D. 1:3 Q
O

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e
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121.

122.

123.

124.

125.

General Knowledge

On the full moon day of which of the
following month of Hindu calendar the
"Chherchhera Punni" festival celebrated
every year in this state?

A. Magh B. Paush
C. Phalgun D. Kartik

Who is the Chairman of Rajya Sabha?
A. President

B. Prime Minister
C. Vice President

D. Home Minister

The annual Gross Domestic Product
takes into account the value of

A. all goods and services
B. all final goods and services
C. all intermediate goods and ser

services

The oldest mountain |r®%5
. Himalaya M(M ?s
Aravalli Mo’u&a S

C. Nilgiri Mountains

D. all intermediate and final g@%

o

D. Vindhyachal Mountains

According to the 2011 census the sex
ratio of India is :-

A. 950
C. 982

B. 991
D. 940

121.

122.

AT AT

g Shetet o frfafiaa o & forg wire 1
qftfar =t 3 Te 1 fvad e g

R {9 ST 27
A. 9= B. 9y

C. W D. Wi

TSIGVT S GHTITT i BIdT 22

A. TSt
B. JumMEAT

C
D.

123. %%ﬁaﬁf% HoheT H] 3T o6 el §

ST

124.

125.

A, &t IEQT SR &Y

B. @sft siferm sreqd i Famd

C. @il weaad a&y U daTd

D. v wearerdt uet ifom s v Hamd
VTR 3T e ST 990 & -

A. feure veid

B. &l wdd

C. raAfTi geia

D. foream=et vaid

H 2011 3T SFRTOHT STTET AR
AT & -
A. 950

C. 982

B. 991
D. 940

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e
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126. The innovation India made to tackle the
problem of illiteracy in the first Lok
Sabha elections was to :

A. Provide separate ballot boxes for
each party

B. Provide a separate election symbol
and ballot box for each candidate

C. Train the people on how to cast their

126. e o orH SATHHHT AT H (e 9
IUT GHEIT o AT § shi9 G a1
[CRIRIDIY

A. T T oh TTT 31T Ut Tt T

B. & YRt o o stert g fo
R Tl TS

vote
C. ST 3T TG st 3T FiRTeTor foam mam
D. Create a system to make people
literate D. ST 3l |T&R i hi HaeT i T8

127. protector of fundamental Rights in 127. e o Hifeteh 3AferehRY ot ETeTsh Bid € -

India- _ A. B. @Uq

A. Government B. Parliament )

C. Cabinet D. Judiciary C. D. =ricrH
128. A country with an ancient civilisation 128. VAT T o7 FSre g 3R

where famous philosophers such as ¢ 3T TR i e 1

Socrates and Plato lived. \’ e c

A. Greece B. France O A B. %

C. Portugal D. Egypt * C. oqii” N D. st
129. Gandhiji started the movement in 1 129. © 1942 U A 3 TR <t of -

A. Non-Cooperation Move A. TSN A<

*

B. Civil disobedience M\ t B. T YIS AT

C. Satyagraha Mo C. HIWIE AT<IeH

D. Quit India!\& ent D. WRd ISl A<
130. Which date was fixed for the revolt of 130. & 1857 3T hifd o foTq =i & fafer

1857? frrerifia &1 8 oft?

A. 10 May 1857 A. 107 1857

B. 31 May 1857 B. 3175 1857

C. 1May 1857 C. 121857

D. 25 May 1857 D. 25W% 1857

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e
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General Science

131. Which of the following is not a

Thermoplastic?

A. Teflon

B. Polythene

C. Polyvinyl chloride
D

. Bakelite

132. Which of the following statement is not
correct about the magnetic field?

A. Magnetic field lines form a
continuous closed curve.

B. Magnetic field lines do not intersect
each other.

C. Direction of tangent at any point on
the magnetic field line curve giv
the direction of magnetic field
that point.

D. Outside the magnet,n ic*field
lines go from south pole of
the magnet.

\

133. The number of molecules of Sg present
in 16 grams of solid sulphur are

A. 0.376x10%3
B. 376x10%3
C. 0.376x10%

D. 37.6x10%

131. frfeifiaa Sgerhi # & M |1 AT S

A. THIH
B. dicitefiT
C. UicfifomTEs FAlIES
D. sehailse
132, <= I fafafea g @ ar

P22
: &7 [T Ush Hdd sic agh ST

¢ I

\e |
Q) B. e 4 Tt O e e
O &

C. TsTehR &1 T =ish W fopelt foig
w3t ot feem 3w foig o e &
sht fewm et 21

D. T o ST o & @S e oh
3feoT g & I g T AT S 2

133. 16 o 3 Aew # Sg F L T
AT B-
A. 0.376x10%3
B. 3.76x10%
C. 0.376x10%
D. 37.6x10%
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134. The direction of impulse in a typical

134. uep fofRme =R H SARdor i fawr -

neuron is ----- 2rdl 2l
A. Axon to dendron A. waﬁgrﬁﬁ;ﬁ'—r
B. Dendron to axon B. SgN ¥ 33[85?@[
C. Both A and B are correct C. AT BIAI T2
D. Both A and B are wrong D. A TS B gH] Teld 2l
135. If T is for Tallness and t is for 135. Ffg T wals o foTu & e ¢ siaae & fee
Dwarfness, what shall be_ the genotype A dedae & Wq@'{a;(«ialﬁ%}a;[
('2; :ntéalel:igaa?plant according to Sfersy T A
A TT A TT
B. tt B. 6
C. Either TT or Tt b TTATTt
D. Tt . 1
\o
136. What should be resistance of an ideal O% Teh TS THIET ot i fehaHT 2T
ammeter? ST
A. Infinity é A. 3T
B. 50hm . OQ B. 5 3ﬁg\'q
C. Zero Ohm \ C. 313;[34}%3:[
D. 10hm D. 1 3w
&
137. Convex lens produces a real point sized 137. 3 oW WIehE T Ush Ao fofg ST
image at focus, the object is placed £ SfT TR, aﬁraﬁ ------- T@T 1T 2
A. At focus A. BIFT T
B. Between F and 2F B. FUd2F &s=#d
C. Atinfinity C. IHAW
D. At2F D. 2FWT
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138. Photosynthesis is a ---------- 138. JeRTIT HIATIT T —-mmmmmem 2l

A. Catabolic process A. ST HiRAT
B. Parabolic process B. WE(eh Tiskar
C. Amphibolic process C. IwI=Hfshar
D. Photochemical process D. 51T TR sk

139. What are the products obtained by 139. qYeni § AT AEH SR i & IATE ITH
anaerobic respiration in plants? AT
A. Lactic acid + Energy A. T + Sl
B. Carbon dioxide + Water + Energy B. ohTs STSHTHITES + e + Foll
C. Ethanol + Carbon dioxide + Energy C. IIATERFTET STZATHTTE + Foll
D. Pyruvate D.

140. Molecular Formula of an alkane with 240. %Wﬁaﬁwqﬁﬂw
6 carbon atoms is a’mﬁaasgc\sr%
A C6H14 A C6H14

B. CgHag qﬁ B. CgHyg
C. C6H12 Q C. C6H12
> O

. CgHg é\ D. CgHe
&

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e
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Current Affairs, Sports, FHATHTIh TEATShHHA, THT,

National-International 2ur-fereer
141. sulur Airforce Station is located in 141, gt aREHT TS HIA % fohg Tsar | feord
which state of India? 29
A. Kerala A. A
B. Rajasthan B. US&IMH
C. Karnataka C. &ich
D. Tamil Nadu D. dafqe-ATg
142. Who is the co-founder of Fintech 142. f%9-3% Ul (“Bharat Pe”) “9RA U
Company “Bharat Pe”? g 29
A. Vijay Shekhar Sharma A At
B. Sameer Nigam it
C. Ashneer Grover . g)m;ﬁm
D. Nandan Nilkani E) Feo1 Freenr

143.  Which famous Panthi Dancer of 0143. ARG TS o fohet doft T FeToh R ol T
Chhattisgarh was awarded Padma % 2021 T =T o TR & gt fora e

(2021)?
A. Dr. Radheshyam Barle Q A S
. .
B. Sh. Madan Singh Ch B. #f1. 7 féig <her
C. Sh. Anup Ranjan I@ C. #ff. 3 S uie
D. Sh. Arun S D. off 1% 3T
144. Which Indian State stands at first 144. T T AT TS TEodl Jaeio 2021 7
position of Cleanest State in Swachhata gy T3 TS shl S0 1 999 IRIE I
Survey 2021?
&
A. Madhya Pradesh A TR
B. Goa B Mar
C. Chhattisgarh C. SETe
D. Himachal Pradesh D. feurae yeur

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e
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145. Which of the following is NOT among 145. {9 o 9 i |1 e TR ST tash §

the new games introduced for the very qeel! SR Wl T Ot § & T8 22
first time in Tokyo Olympics?

A. Karate A. e

B. Surfing B. ®fthm

C. Skateboarding C. Thealfen

D. Chess D. Id

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e
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General Knowledge of State

146. Where is the famous Lakshmana temple
in Chhattisgarh?

A.

Raipur

B. Sirpur
C.
D. Kanker

Sukma

147. Which of the following is called the
‘Khajuraho of Chhattisgarh’?

A
B.
C.

D.

A
B.
C.
D.

Sirpur
Chandrapur
Bhoramdeo

Rajim

25 0 \Q
27 \O

s 8

149. The name of the first Governor of
Chhattisgarh is-

A

Shri K. M. Seth

B. Shri Balram Jakhar
C.
D. Shri Lalji Tandon

Shri Dinesh Nandan Sahay

ST hl ATAT AR

146. wdtee § gftree deno HieT el 82

O 0o w >

147, frer 4 & forer “SeiteTe T ERr Fer
STt &7

A

B.

. e

=

. O

ST hT TST 27

A

149. BeftaTe % JoW TsIUTS 1 T4 2-

o O w >

B
C.
D

25

. 26

27

. 28

. ANF a3

. ot o TS
. it feawr dea e

. o TSI

:\D. afsm
148.  On which number Chhattisgarh stands Ol . TUIEIE I ST TATIAT o SHTURR i §
in India in respect of formation? :.ﬁ
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150. Chitrakote Waterfall is situated on 150. fosrenle StAyaTd e & @ i o 9t 1T

which of the following river? feorg &2
A. Mahanadi A. AgHG!
B. Indrawati B. sad!
C. Shivnath C. fmmy
D. None of these D. &S el

SPACE FOR ROUGH WORK / &% &Td & fo1@ s e
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SET-A

I TR T T 0T : 3Ee AfereRay 3iek : 150
Time for making answers : 3 Hours Maximum Marks : 150
e
1. 39 o qRaent § feT 9 g -

"I -1 75 3k

T daet g

W - 11 75 3R

TR, I9T-TreT, T R ST AR

e T4 1 31k T8 | FHeT 150 T oA AT 7 1 ()

*
2. nﬁ%w,ﬁn?OMRwsﬁZ(wmwﬁz)md@ﬁw
3. ToTa ST 3ifehd @i UX Y4 3ieh ShTe ST | O

4. Tore off TE & FeHeI AT AN ST T I T IAT AR © |
5.  OMR STWIE (ATET) AT T IS TETTLUTHT T B/ oD I8 We T T
IaH e a1 faerae enfe ug TATIEY I T 8l A |

Note : @\
1. This Question P?@sists of Parts namely :-

PART - | 75 Marks
Accounts Related Knowledge

PART - 11 75 Marks

Computer Related Knowledge, Hindi Language, English Language, Mathematics, General
Knowledge, General Science, Current Affairs, Sports, National-International, General
Knowledge of State.

Each question carries 1 mark. All 150 questions are compulsory

Indicate your answers on the OMR Answer-Sheet provided.

Y mark will be deducted for each wrong Answer.

Use of any type of calculator or log table and mobile phone is prohibited.

ok~ N

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds or wrinkles.
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B W5 79 faerw frm fafes, R @ sigfqg
A€ Ud Bl dEmre wdf gden (VAJ) — 2022 (Final Answer)

Sub. Code -202032-RV-QRYV SET-A
Qu. | Ans. | Qu. [ Ans. | Qu. | Ans. | Qu. [ Ans. Qu. | Ans. | Qu. [ Ans. | Qu. | Ans. Qu. | Ans. [ Qu. | Ans. | Qu. | Ans.
1 D|16| B |31 | C | 46 A|61|B|76| D] 91 D (106]| B |121]| B [136 C
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